
0 1 0

0 0 1

1 0 0

17 + 29𝑖 ∈ ℂ

4.56 + 4.56 + 4/5 + 4 + 5𝑖 + 4.56𝑒𝑖4.56 + π + ⅇ + ⅇ + ⅈ + ⅈ + γ + ∞

22/7 ≃ π

𝑎11 𝑎12 … 𝑎1𝑛

𝑎21 𝑎22 … 𝑎2𝑛

⋮

𝑎𝑚1 𝑎𝑚2 … 𝑎𝑚𝑛

𝑥1

𝑥2

⋮

𝑥𝑛

=

𝑏1

𝑏2

⋮

𝑏𝑛

f (𝑥) = 𝑗 = 0
∞ f 𝑗 0

𝑗!
𝑥𝑗

𝑥2 − 9 = 𝑥2 − 32 = (𝑥 − 3)(𝑥 + 3)

𝑥2 − 9 = 𝑥2 − 2
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𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0

𝑎𝑥2 + 𝑏𝑥 = − 𝑐

𝑥2 + 𝑏

𝑎
𝑥 = −𝑐

𝑎
Divide out leading coefficient.

𝑥2 + 𝑏

𝑎
𝑥 + 𝑏

2𝑎

2
= −𝑐 4𝑎

𝑎 4𝑎
+ 𝑏2

4𝑎2
Complete the square.

𝑥 + 𝑏

2𝑎
𝑥 + 𝑏

2𝑎
= 𝑏2 − 4𝑎𝑐

4𝑎2
Discriminant revealed.

𝑥 + 𝑏

2𝑎

2
= 𝑏2 − 4𝑎𝑐

4𝑎2

𝑥 + 𝑏

2𝑎
= 𝑏2 − 4𝑎𝑐

4𝑎2

𝑥 = −𝑏

2𝑎
± {𝐶} 𝑏2 − 4𝑎𝑐

4𝑎2
There's the vertex formula.

𝑥 = −𝑏 ± {𝐶} 𝑏2 − 4𝑎𝑐

2𝑎
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